Division par Puissances de Dix (])

61 = 102

19 = 103

52 = 103

80 + 10*

47 + 103

86 +~ 10°

57 + 107

21+ 10%

87 =+ 102

51 = 103

Trouvez chaque quotient.

51 + 103 =

92 +10° =

8 +103=

68 + 10*

30 +10% =

85+ 10° =

12 = 10% =

32 +10%=

68 =+ 10!

45 + 10% =
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Division par Puissances de Dix (J) Solutions

61 +10%=0,61

19 +10°=0,019

52+ 10°=0,052

80 +10'=8

47 +10° = 0,047

86 +~ 10°= 0,86

57 +10%=0,57

21+10'=21

87 + 10% = 0,87

51+ 10°=0,051

Trouvez chaque quotient.

51+ 10°=0,051

92 + 10° = 0,092

8 = 10% = 0,008

68 +10'=6,8

30 +10°=0,3

85 + 10° = 0,085

12 +10%=0,12

32 +10°=0,032

68 ~ 101 =6,8

45 +10%* = 0,45

MathsLibres.Com




